Yamaha Grizzly 450

Material: Steel

N '& N '&
» »

HanmeHoBaHune 3awmTa Komnnekraums
a4
Mrowaaka nos e 2 x Bont M8x20 \ 4 ©V
nebenky ; 2 x bont M6x1,0x18 M6 = 9,8 Nm M8 = 24 Nm

1 x BuHt M8x1,25%x16
1 x Bunt M8x1,25x20

2 x Nanka M6
4 x Nanka M8

2 x anka M8x1,25

4 x lllan6a 6
8 x LLlanba 8

{M8x1 295x1

%g T | |\/|8x1,25x20j
{M6x1,0x18§

Q M8x1,25x2

190020r.ClN6 Ha6.06BoAaHOrO KaHana A. 150 ren: (812) 495-95-49, 335-05-25

y




	Страница 1

